Assume all atoms have neutral charge unless otherwise stated.

1. Name two things you can do to an atom which will cause an electron to rise to a higher orbit:

a. > b.
2. Whatis the mass of each, (in a.m.u.s)? l proton \ neutron ! ) electron
3. Which has more energy,
a. yellow light
(“B. greenlight
4. DrawTmETOT-dash and circles electron 5. Draw the dot-dash and circles electron
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7. What is the charge of each, (choose 0, +1, or -1)? | proton

0O neutron —| electron

8. When an orbiting electron loses energy the atom emits a

<~ a. photon >
b. neutron
c. proton
d. nucleon

Place the following events in chronological order (1 =

and emits energy:

electron jumps to excited state.
atom is energized with electricity.
electron falls to ground state.
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electron absorbs energy at ground state.

first, 4 = last) to describe how an electron absorbs
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** put a star by the step where light is emitted.




The next four questions all refer to the black arrows below which show three
possible transitions for an electron orbiting around a nucleus
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,.-"6]‘ S 9. Lines 1,2, and 3 all represent an electron dropping down.
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S3o=rs 3 10. Of these three electron movements, which is the highest
energy?

a. transition@

11. d ransitione make an orang‘eghoton and a green photon, respectively,

what color photon might transition 6 make? (1 will accept any reasonable
answer). NIOLE

12. Draw one new line labeled (6) onto the bright line emission spectrum in the box to showthe position
where the light caused by G would appear

‘[e answer here by drawing one vertical line in the correct position
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13. Which of the following statements is most likely?
a. transition (%) is from the absorption of a large amount of energy and transition @ is

from the absorption of a small amount of energy
b. transition (%) is from the absorption of a small amount of energy and transition (€) is
from the absorption of a large amount of energy

I P 0
.j G ransitbion @ is from the emission of a Blue photon and transition @ is from the
b My

ion of a Blue photon
d. transition (4) is from the emission of a Red photon and transition (6) is from the

ab: ion of a red photon &%~
14. Mark (E)xcited state or (G)round state for each of the following electron configurations of neutral

atoms.
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15. Which of these will absorb the most energy? ,,’ _ej 5 =4
a. electron transition () S AEE N, R
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16. Mark (E)xcited state or (G)round state for each of the following S ot
electron configurations of neutral atoms. Then write the 0-0-0 it
style electron configuration. (You may find it helpful to number the orbits, starting with 1 for the

innermost orb:t )

17. Mark (E)xcited state or (G)round state for each of the following electron configurations of neutral
atoms. Then write the 0-0-0 style electron configuration. (You may find it helpful to number the orbits,
starting with 1 for the innermost orbit.)
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